:(gf;ématimated “Cost New” 1916......{55' £ 210,

(b} Totar useful life.....,,..;‘A°_"g” - 60 yeare,
) -(e) 'Cable syatan to be discazdéd in 10 yeara.
’”_}1@).1uc"¢p or'Residualféalue...ﬁﬁlu’“ & 20.4

<c h&;fﬂﬂﬁicﬁ S

In vala;ng the cars, regard ahould be paid to both %epreciation
| and Superseaeion (ﬁbsolaseence}, aut the method ofAining
"‘3: effect to these pxineinles s entlrely different.
. ;1f 2EE§§§1é$;g§L ”Aéséming”a’naeful iife ﬁf'ée"yéars,:an annu&l-
o dapreciatlon of *?% par annum shauld.be written off the ”use“

'ﬁ'- value viz. £190 ‘each ye&r £3-167 per annum.,

- f.fngg_exaAmle.e A otana@rd Gér shich has been in use 30 years

L ﬁOBZ HGW..........'_. ) . 321@. |
: . e . DeduCt 23'197 x 300n-ocoo S 25:% -
: , o ..

fijl?his ie on: the as&umption th&t the cmble sjatem will contzﬁue
*‘rfar 30 years 1anger. The “Straight 1ine“ E&thgd ef depracia-}

'1t;on has been adopted._'“

. . As however. iﬁ is ausumad th&t the systamd
"f?will s scraupaa at the expiration ef 10 ysars, it. is necese&ry
;{'to aseertain ﬁhe Present Value of dﬁ.&»y@ﬁ ‘worth £114. .99 in 1916;

the value of which will, in 1926 ‘be reduced $o £2@. Ly think

\. )
w;;vyhf‘%hla ahnuld bﬁ deuermAned by estimating th@ s X\
 ‘“present value of ita futura 'uee' vwlu&. nrlus gresent value

,f!' ) _4”'f | Tof its Scrag ar residual valu@“

The futur@ "naeﬂ‘va&ueVof & car i@‘appraximately equal to the

Intercst and Deprecietion on the gum réguired to manufacture



3 4'4-‘-‘.24- )

’ az* Burcham a new ca,r, h@cauae mixess & ear can carn the

B Imez'eat emﬁ Bam’aaia%ion on M@ %@im& eoa%, :H; wi‘m m*ﬁ
pa,y to a@@uﬁ.m it. o .
- She’ Mmml Znt@re% st 5.&: a,ml b&preciaﬂon at 13% o6 the present
= va,lu@ of ﬁhe Gar viz.;eglm.s? is £7. 666 Which repr%ents the
5 ‘f“.f o approximata aunual Cap&;ta.l cost of the’ a&r. IR

M th@ company'a lease of ﬁze tmmwa di& mot mzre mr&il 19&6
'-“‘mpemaasian my ﬁs ﬁgmred nntil mt date. , '
'ﬂw V&lu@ of the G&r, alleming fax» depr@ciatian and superaasaim ,

win therefere be: tha preaeﬁt value of an emmiﬁy of .£7 666
_ faxv ‘10 yeaxfs, plua tha pmnent value nf £20 bcmp nz Raaidua , '
" value due 16} yearﬂ hem:e.

me pz’esant vame of £l pep amanm :ﬁ‘w 10 yoars @ 5% "
Sk i thah ﬁg .72 x £7.666  u 59 189

The pmaenﬁ 'value m’.‘ £:>o pa,yable 16 yaars h&nca ia ‘
" e ?resent value af the Cax eﬂw |
7€" G A Under @hiB swhe*ne the Cempany win not raquize ‘to comp@nﬁata -

th,e Bmd fox' rayaim aec- nea t ' ‘da 18

e o . use | | L
LT It. may be urgaﬁ m& the ”annual/?alna“ £7.666 ignares tha fact |

that the ea,r mn emﬂn a large zmafit., This- ia so. "

‘ Tramway '7\"‘ger in eonaidermg t.he question af builﬁng az*

e -purch&sing nw c@ra mmlﬂ m:t a}.lew for pmﬁt. He wzmld |

& argua tha.t :in ur@ex* to meweﬁ Fuhhc c:cmvanience ané f.o prsvm% :

A:.;_@om@t_itiqn he muat provma ea,m to corey trh@ pasam@m

= o demring io ﬁraval,: T{e would omly ve guided by the fact that

L hé.s new: a&rs shou:ld Intereais ﬁn Gapit&l @z@ended and :pmvide.
a i‘zmd f’a‘g Amertiﬁatim,

y & Omni“bua Lo, the Z
T Ge@& Wil ox' pmfit eam:mg cﬂ@aezty of‘ ‘ahe 305 rd¥e tramgave
R '-ahould, ha exalud@d.

m pu:mhasing ca,m f‘rom the mlbomrm &d)"s

. It m t:w@ f.hat th@m cara u wj

?ff'aisa tma faet ﬂmt if mathsr aable syatem were to purchwe
. ﬁhem theymigm: bﬁ mn at @, fwss. me aimply used as "Stand-by's

. %o provicte for omergeneies.
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5“751‘9 gaarg.-= {F@riad bar haa been in Uve) f,igfxearﬁ;__°.7 ¢69%;; "N
4 Cost naW'1916.....f1ﬁ “'f2i°~"* \' ;f;wlkieﬂs;ﬁeérégiatiéﬁ:‘

. 13  lnterest 5 Deproclation 1 .1-? iiTl;ﬂ&~.ﬁreaé;t‘véiué éf EZO
: Gn,5114.990 &7.666 ped . 'Aﬁ}. S S
S resant V&lue £7.721 59.189 Present velue of Cér -~ £.104,06

’Dreaent V&lue of “2® nesidual fQi"“@i'3.f EREIE e ~f.};i
Yalue payable/in 19“6..:" ;2;22& ' SR : » =

yesre. - Cost - 2i0.
' Presen@ Vhlng;gfgbax.;.,‘f' £ ZZ! z = T f &0

S - o ) Lews Depr ecietion Al;,;ﬁ;@iﬁ
iNg;fﬁ;-£  i: ; f;:»u~."A: 521 i‘ L u “_,,;'.g R 194,365
T s gl 99,950
Fres@nt valuu of £20 | ~12.278
7‘33 Presenz value ef ch-&;;ggggi i

SRS . “°St--7vi”’3 R 210.,,ifﬂjnn
fk;f% Less b@preciation 3 167 'y gr-f{f29 1{£';

e C&piﬁal ch&rge& egp on "j[‘Q;?;f‘ B R I
B £130 865 ?, &,722 - 3 xgar. Cost 210

} o ET7RL 67,334 5‘

. re L ‘Tess Degreczation S .1
,1 P sant value of £20.. 'r;.;,;;_igﬂa - # e N ~ﬂq3,*_2 “
g I ¥ ? s

Preeent Valu@ o L&r..H2; é329;éngg ; ' - L
N | I 13, 7?8 x 7. 721 o 1@6.457

e |
é;tié'éfég  ;;?i":ﬁ§§;1i1- . Present valuw af £20 12, 228" ?
L Le@s Deprec1atlon s Fregﬁnt valhe Ofﬂ?&r 18,233
- Capital Ch&rges ~9 777 x £7. 721 75 4&a .':fé?;aaags' | “cqﬂt;::i  L-éggl*- | é
- Present v&lue of £20... 12,278 | vMxz.R :-198'094', {

| Prasant Value of C&I}- & Ziéé ‘t,yr@gpnt velie Of £20. A2, . j

s { e e i Pre@ent value of Car &£ 120
:  ¢§ .- cost f‘,,,,lg,A e 120,372

T@wmmmmmnd%AMﬁ ?Lg%ufu R

y%&3x7m1,3 &6%
| Pra ent valuerof £20° "} 12,320
\ Fresent value/af Lar..f £ 25,2 2

':‘,_,'. -
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